
Wall-Mounted Chin Up Bar
(10000855)



Expansion Bolt:(M10*80)

Hex Bolt:(M10*70)

    Lock Nut:(M10)Washer:(φ10)

   8X  4X

 4X

   6X



Maximum load 150KG

610
mm

40
0m
m

1210mm



1

M10*70

M10

φ
10

φ
10

M10*70

M10

φ
10

φ
10

M10*70

M10 φ
10

φ
10

M10*70

M10 φ
10

φ
10

Hex Bolt(M10*70)-4PCS

  Washer(φ10)
     -8PCS

    Lock Nut(M10)
        -4PCS



2
Expansion Bolt(M10*80)-6PCS

M10
*8
0

M10
*8
0

M10
*8
0

M10
*8
0

M10
*8
0

M10
*8
0


